375.00 mm [14,764 in]

Max label width (fits under handle edges)

157.50 mm [6,201 in] | 157.50 mm [6,201 in] _ A-A
25.00 mm [0,984 in] 30.00 mm [1,181 in]
R | i~ -
o ° g FUd
c = |8
A | 5 gL
o k= <+ o, z
% E e ° ¢ [ E‘jL E g el
El £ = S|
o Q o8
< = | Q o |5
Ll E L9 o | g
0 3 . . — g X NOTES.
2y [ [ 1 J;d Case metalwork is made from 1.5 mm aluminium
- A__I and painted RAL 9005 fine texture black.
Front panel is made from 3 mm aluminium with a
60.50 mm [2,382 in] clear etch & anodise finish. N _
- 40.20 mm [1,583 in] Handles are made from an aluminium extrusion &
436.00 mm [17,165 in] @ l___l’ also painted RAL 90(_)5 fine texture black.
! All parts are fitted with M4 studs for earth use.
- | - c PARTS LIST
= 241.30 mm [9,500 in] i S ITEM QTY PART NUMBER DESCRIPTION
~ R S 1 1 M6219010 Front Panel
= jlm ® . @ﬁ =) E:C 2 2 M6202139 Side panels
= ® * Er £ 3 1 M6201019 Rear Panel
3 N : 4 2 M6200109 Handles
™ 482.60 mm [19,000 in] o — 6 4 M4x16 CSK Screw (B)  |Front Panel Screws
¥ ~ ( : > 7 12 |M3x8 CSK Screw (B)  |Cover Screws
= 8 6 M3x8 Pan Screw (B) Rear Panel Screws
I~ 9 1 M6203039 Base Panel
=] 10 1 M6203029 Top Panel
% = Rear Panel of @ 11 2 M3x8 CSK Screw Front Panel Screws
o []
= L FIRST ANGLE PROJECTION
g Designed by Description Date Scale
2 428.35 mm [16,864 in] @ L Clark Combimet 1U x 19" x 265 mm Unvented 01/03/2012
e e ENCLOSURES . | MIETI®ERS  wyww. "j:fecase com
D e e e o A o g B B ™| T a8 Oy S0 el metsseoomvcon | M6219139 Ve
6 | ) 3 | 1

N




